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Financial Leases

Example

Greymore Bus Lines is considering a lease. Your
operating manager wants to buy a new bus for $100,000.
The bus has an 8 year life. The bus saleswoman says
she will lease Greymore the bus for 8 years at $16,900
per year, but Greymore assumes all operating and
maintenance costs.

Should Greymore buy or lease the bus?
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Financial Leases "
Cash flow consequences of the lease contract to
Greymore:
*Greymore saves the $100,000 cost of the bus.
*Loss of depreciation benefit of owning the bus.

*$16,900 lease payment is due at the start of each
year.

*Lease payments are tax deductible.
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Financial Leases -

Cash flow consequences of the lease
contract to Greymore

Costofnewbus ~ 100.00

Lost Depr tax shield (7.00) (1120) (6.72) (4.03) (4.03) (202)

L ease payment (16.90) (16.90) (16.90) (16.90) (16.90) (16.90) (16.90) (16.90)
Taxshieldoflease 592 592 592 592 592 592 59 59

Cashflowof lease ~ 89.02 (17.98) (22.18) (L7.70) (15.01) (15.01) (13.00) (10.98)
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Ample

Greymore Bus Lines can borrow at 10%, thus the value of

the lease should be discounted at 6.5% or .10 x (1-.35).
. The result will tell us if Greymore should lease or buy the
bus.
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reymore Bus Lines can borrow at 10%, thus the
value of the lease should be discounted at 6.5% or .10
X (1-.35). The result will tell us if Greymore should
lease or buy the bus.

m

NPV lease =89.02 -

17.99 22.19 17.71 15.02

1.065 (L.0657 (L.065)° (1.065)4’

15.02 13.00 10.98

(1.065)° (1.065)° (1.065)
=—.700r-$700




mple - cont
Greymore Bus Lines lease cash flows can also be thought

..of as loan equivalent cash flows.
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Amount borrowed
at year end 89.12 7156 1031 0.00
Interest paid @ 10% -8.97 219 -1.03

Tax shiela @ 35% 3.14 0.77 036
Interest paid after tax 583 142 067
Principal repaid -12.15 1158 -1031
Net cash flow of

equivalent loan 89.12 -17.99 -13.00 -10.98




